



SUM OF POWERS OF NATURAL NUMBERS USING POLYNOMIALS

V. R. Kalyan Kumar* & Dr. R. Sivaraman**

* Independent Research Scholar, California Public University, Delaware,
United States of America

** Associate Professor, Post Graduate and Research Department of Mathematics, Dwaraka
Doss Goverdhan Doss Vaishnav College, Arumbakkam, Chennai, Tamil Nadu

Cite This Article: V. R. Kalyan Kumar & Dr. R. Sivaraman, "Sum of Powers of Natural Numbers Using Polynomials", International Journal of Applied and Advanced Scientific Research, International Peer Reviewed - Refereed Research Journal, Volume 9, Issue 1, January - June, Page Number 29-32, 2024.

Copy Right: © DV Publication, 2024 (All Rights Reserved). This is an Open Access Article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium provided the original work is properly cited.

Abstract:

There are several ingenious methods to determine the sum of powers of natural numbers. In this paper, we define certain class of polynomials and examine their properties in detail. Further, we will see how the sum of powers of natural numbers could be easily evaluated by integrating such class of polynomials.

Key Words: Sum of k^{th} Powers of Natural Numbers, Polynomials, Bernoulli Numbers, Fundamental Theorem of Calculus.

1. Definition:

Let us denote the sum of k^{th} powers of first n natural numbers by

$$S_k(n) = 1^k + 2^k + \dots + n^k \quad (1)$$

We notice that, $S_0(n) = n$

In view of formulas presented in [1, 2], we know that $S_k(n)$ is a polynomial in n of degree $k + 1$.

2. Definition of Polynomials $Q_n(x)$

Let us define set of polynomials $Q_n(x)$ where $n \geq 0$ is an integer, recursively as follows:

$$\begin{aligned} Q_n(0) &= B_n \\ Q_0(x) &= 1 \\ Q_n(x) &= n \times Q_{n-1}(x) \end{aligned} \quad (2)$$

Where B_n is the n^{th} Bernoulli number.

3. Definition of Bernoulli Numbers:

Bernoulli Numbers are numbers which occur as coefficients of $\frac{x^n}{n!}$ in the Taylor's series expansion of $\frac{x}{e^x - 1}$ about $x = 0$. We denote the n^{th} Bernoulli Number by B_n . For knowing more about Bernoulli numbers and their properties see [2]

$$\text{Thus by definition we get } \frac{x}{e^x - 1} = \sum_{n=0}^{\infty} B_n \frac{x^n}{n!} \quad (3)$$

We notice that the constant term of $\frac{x}{e^x - 1}$ is 1 and so we obtain $B_0 = 1$.

In view of [3], we know that the Bernoulli numbers satisfy the equation

$$\sum_{j=0}^n \binom{n+1}{j} B_j = 0 \quad (4)$$

Using the fact that $B_0 = 1$ and (4), the first few Bernoulli numbers are given by

$$\left. \begin{aligned} B_0 &= 1, B_1 = \pm \frac{1}{2}, B_2 = \frac{1}{6}, B_3 = 0, B_4 = -\frac{1}{30}, B_5 = 0, B_6 = \frac{1}{42}, B_7 = 0, B_8 = -\frac{1}{30}, B_9 = 0 \\ B_{10} &= \frac{5}{66}, B_{11} = 0, B_{12} = -\frac{691}{2730}, B_{13} = 0, B_{14} = \frac{7}{6}, B_{15} = 0, B_{16} = -\frac{3617}{510}, \dots \end{aligned} \right\} \quad (5)$$

4. Evaluation of $Q_n(x)$ for $n \geq 1$

Let us determine $Q_n(x)$ for $n = 1, 2, 3$ etc. By (2), we get $Q_0(x) = 1$.

Let $n = 1$. Then $Q'_1(x) = 1 \times Q_0(x) = 1$

Integrating with respect to x on both sides

$$Q_1(x) = x + c_1 \quad (6)$$

To find c_1 , put $x = 0$ in (6), $Q_1(0) = c_1$

From (2), $Q_1(0) = B_1 = 1/2$

Thus, we get $c_1 = 1/2$ and using this in (6),

$$Q_1(x) = x + \frac{1}{2} \quad (7)$$

Let $n = 2$

$$Q_2'(x) = 2 \times Q_1(x) = 2x + 1$$

Integrating with respect to x on both sides

$$Q_2(x) = x^2 + x + c_2 \quad (8)$$

To find c_2 , put $x = 0$ in (8), $Q_2(0) = c_2$

From (2), $Q_2(0) = B_2 = 1/6$

Thus, we get $c_2 = 1/6$ and using this in (8),

$$Q_2(x) = x^2 + x + \frac{1}{6} \quad (9)$$

Let $n = 3$

$$Q_3'(x) = 3 \times Q_2(x) = 3x^2 + 3x + \frac{1}{2}$$

Integrating with respect to x on both sides

$$Q_3(x) = x^3 + \frac{3}{2}x^2 + \frac{1}{2}x + c_3 \quad (10)$$

To find c_3 , put $x = 0$ in (10)

$$Q_3(0) = c_3$$

From (2), $Q_3(0) = B_3 = 0$

Thus, we get $c_3 = 0$ and using this in (10),

$$Q_3(x) = x^3 + \frac{3}{2}x^2 + \frac{1}{2}x \quad (11)$$

Similarly we can compute $Q_n(x)$ for other values of n .

5. Integrals of $Q_n(x)$ for $n \geq 1$

Let us integrate $Q_n(x)$ for $n \geq 1$ with respect to x between any 2 consecutive natural numbers, say $k-1$ and k .

Let us consider $n = 1$

$$\int_{k-1}^k Q_1(x) dx = \int_{k-1}^k (x + \frac{1}{2}) dx = k \quad (12)$$

Now considering $S_k(n)$ for $k = 1$ and using (12), we get

$$\begin{aligned} S_1(n) &= 1 + 2 + 3 + \dots + n \\ &= \int_0^1 Q_1(x) dx + \int_1^2 Q_1(x) dx + \dots + \int_{n-1}^n Q_1(x) dx \\ &= \int_0^n Q_1(x) dx = \int_0^n (x + \frac{1}{2}) dx = \frac{n^2}{2} + \frac{n}{2} = \frac{n(n+1)}{2} \end{aligned}$$

Thus, we have determined the value of $S_1(n)$ by integrating $Q_1(x)$

Let us consider $n = 2$

$$\int_{k-1}^k Q_2(x) dx = \int_{k-1}^k (x^2 + x + \frac{1}{6}) dx = k^2 \quad (13)$$

Now considering $S_k(n)$ for $k = 2$ and using (13), we get

$$\begin{aligned} S_2(n) &= 1^2 + 2^2 + 3^2 + \dots + n^2 \\ &= \int_0^1 Q_2(x) dx + \int_1^2 Q_2(x) dx + \dots + \int_{n-1}^n Q_2(x) dx \\ &= \int_0^n Q_2(x) dx = \int_0^n (x^2 + x + \frac{1}{6}) dx = \frac{n^3}{3} + \frac{n^2}{2} + \frac{n}{6} = \frac{n(n+1)(2n+1)}{6} \end{aligned}$$

Thus, we have determined the value of $S_2(n)$ by integrating $Q_2(x)$

Now we see if this pattern can be generalized to evaluate $S_k(n)$ for any given k by integrating $Q_k(x)$. In order to do this, first we will prove the following theorem.

6. Theorem 1:

If $Q_n(x)$ are the polynomials as defined in (2), then $Q_n(k) - Q_n(k-1) = n \cdot k^{n-1}$ (14)

Proof:

We will prove (14) using mathematical induction on n .

Let $n = 1$. Then $Q_1(k) - Q_1(k-1) = k + \frac{1}{2} - (k-1 + \frac{1}{2}) = 1 = 1 \cdot k^0$. Thus (14) is true if $n = 1$. Now consider $n = 2$. Then we obtain

$$Q_2(k) - Q_2(k-1) = k^2 + k + \frac{1}{6} - \left((k-1)^2 + (k-1) + \frac{1}{6} \right) = 2k = 2 \cdot k^{2-1}$$

Hence (14) is true for $n = 2$ also. So, by Induction Hypothesis, we assume that (14) is true for all values of $n = 1, 2, \dots, m$. We will show that it is also true for $n = m + 1$.

$$\begin{aligned}(m+1) \cdot k^m &= m k^{m-1} \cdot k + k^m \\ &= [Q_m(k) - Q_m(k-1)] k + k^m \quad (\text{Using Induction Hypothesis for } n = m)\end{aligned}$$

Now using (2) and re-arranging the terms, we obtain

$$\begin{aligned}(m+1) \cdot k^m - k^m &= \frac{k}{(m+1)} Q'_{m+1}(k) - \frac{k}{(m+1)} Q'_{m+1}(k-1) \\ mk^{m-1} &= \frac{1}{(m+1)} Q'_{m+1}(k) - \frac{1}{(m+1)} Q'_{m+1}(k-1)\end{aligned}$$

Using Fundamental Theorem of Calculus, integrating above equation on both sides with respect to k , we get

$$k^m = \frac{1}{(m+1)} [Q_{m+1}(k) - Q_{m+1}(k-1)] + \lambda, \text{ where } \lambda \text{ is constant of integration.}$$

If $m = 0$, then from above equation, we obtain $1 = [Q_1(k) - Q_1(k-1)] + \lambda$. Now using (7), we get $1 = \left(k + \frac{1}{2}\right) - \left(k - 1 + \frac{1}{2}\right) + \lambda$ from which $\lambda = 0$.

Hence, $(m+1)k^m = Q_{m+1}(k) - Q_{m+1}(k-1)$ proving (14) for $n = m + 1$ also.

So, by principle of mathematical induction, (14) is true for all non - negative integers n .

This completes the proof.

We now establish the following important theorem.

7. Theorem 2:

$$\text{If } k \geq 0 \text{ and } n \geq 1 \text{ are integers then } \mathcal{S}_k(n) = \int_0^n Q_k(x) dx \quad (15)$$

Proof:

Using (2) and (14), we see that

$$\begin{aligned}\int_{k-1}^k Q_n(x) dx &= \int_{k-1}^k \frac{1}{(n+1)} Q'_{n+1}(x) dx = \frac{1}{(n+1)} [Q_{n+1}(k) - Q_{n+1}(k-1)] \\ &= \frac{1}{(n+1)} \times (n+1)k^n = k^n\end{aligned} \quad (16)$$

Hence using additive property of integrals and (16), we obtain

$$\begin{aligned}\mathcal{S}_k(n) &= 1^k + 2^k + 3^k + \dots + n^k \\ &= \int_0^1 Q_k(x) dx + \int_1^2 Q_k(x) dx + \dots + \int_{n-1}^n Q_k(x) dx \\ &= \int_0^n Q_k(x) dx\end{aligned}$$

This completes the proof.

8. Conclusion:

In this paper, we have defined the polynomials $Q_n(x)$ for any natural number n as in (2). In fact, these polynomials are translated form of the well known Bernoulli polynomials in mathematics literature. Hence using the modified form of Bernoulli polynomials, we have first proved (14) in theorem 1 and using this result as well as the well known theorems in calculus, we have established a nice formula that sum of k th powers of first n natural numbers namely $\mathcal{S}_k(n)$ is obtained by integrating $Q_k(x)$ over the closed and bounded interval $[0, n]$ for fixed natural number n as in (15) of theorem 2. Hence knowing the modified form of Bernoulli polynomials, one can immediately obtain $\mathcal{S}_k(n)$ for given k .

9. References:

1. R. Sivaraman, Sum of powers of natural numbers, AUT Research Journal, Volume XI, Issue IV, April 2020, pp. 353 - 359.
2. R. Sivaraman, Bernoulli Polynomials and Faulhaber Triangle, Strad Research, Volume 7, Issue 8, (2020), pp. 186 - 194.
3. R. Sivaraman, Remembering Ramanujan, Advances in Mathematics: Scientific Journal, (Scopus Indexed Journal), Volume 9 (2020), no.1, 489-506.
4. R. Sivaraman, Summing Through Triangle, International Journal of Mechanical and Production Engineering Research and Development, Vol.10, Issue 3, (2020), pp.3073 - 3080.
5. R. Sivaraman, Summing Through Integrals, Science Technology and Development, Volume IX, Issue IV, April 2020, pp. 267 - 272.
6. R. Sivaraman, J. Suganthi, A. Dinesh Kumar, P.N. Vijayakumar, R. Sengothai, On Solving an Amusing Puzzle, Specialusis Ugdymas/Special Education, Vol 1, No. 43, 2022, 643 - 647.
7. A. Dinesh Kumar, R. Sivaraman, Asymptotic Behavior of Limiting Ratios of Generalized Recurrence Relations, Journal of Algebraic Statistics, Volume 13, No. 2, 2022, 11 - 19.

8. P Senthil Kumar, R Abirami, A Dinesh Kumar, Fuzzy model for the effect of rhIL6 Infusion on Growth Hormone, International Conference on Advances in Applied Probability, Graph Theory and Fuzzy Mathematics, Vol. 252, 2014, pp. 246
9. P Senthil Kumar, A Dinesh Kumar, M Vasuki, Stochastic model to find the effect of gallbladder contraction result using uniform distribution, Arya Bhatta Journal of Mathematics and Informatics, Vol 6, No. 2, 2014, pp. 323 - 328
10. R. Sivaraman, Recognizing Ramanujan's House Number Puzzle, German International Journal of Modern Science, 22, November 2021, pp. 25 - 27
11. R. Sivaraman, Pythagorean Triples and Generalized Recursive Sequences, Mathematical Sciences International Research Journal, Vol. 10, No. 2, July 2021, pp. 1 - 5
12. R. Sengothai, R. Sivaraman, Solving Diophantine Equations using Bronze Ratio, Journal of Algebraic Statistics, Volume 13, No. 3, 2022, 812 - 814.
13. A. Dinesh Kumar, R. Sivaraman, Analysis of Limiting Ratios of Special Sequences, Mathematics and Statistics, Vol. 10, No. 4, (2022), pp. 825 - 832
14. A. Dinesh Kumar, R. Sivaraman, On Some Properties of Fabulous Fraction Tree, Mathematics and Statistics, Vol. 10, No. 3, (2022), pp. 477 - 485.
15. M. Vasuki, R. Sivaraman, Solving Quadratic Diophantine Equation for Integral Powers of 37, International Journal of Mathematics and Computer Research, Vol 12, No. 1, 2024, 3996-3998
16. Dinesh Kumar A, Sivaraman R. Ramanujan Summation for Pascal's Triangle. Contemp. Math; 5(1): Feb 2024, 817-25.